PSE 476
Homework #14
Due 2/23/05

1. Which statement best describes black liquor? (1 point)
a) A dilute solution containing mostly inorganic solids at a pH~14

b) A dilute solution containing mostly organic solids at a pH~14

c) A dilute solution containing mostly organic solids at a pH>12

d) A concentrated solution containing mostly inorganic solids at a pH>12

e) A concentrated solution containing mostly organic solids at a pH~14

f) A concentrated solution containing mostly inorganic solids at a pH~14

2. The inorganic in the highest concentration in black liquor is: (1 point)
a) Sodium hydroxide

b) Sodium sulfide

c) Sodium carbonate

d) Sodium sulfate

3. What is the minimum concentration black liquor is evaporated to prior to burning? (1 point)
a) >40%

b) >60%

c) >80%

4. What is the maximum concentration a black liquor can be evaporated to using direct heating? (1 point)
a) 65%
b) 70%
c) 80%

5. What is the name of the process by which organics in the recovery furnace react with oxygen forming CO2, CO, and heat? (1 point)
a) Combustion

b) Pyrolysis

c) Reduction

6. What is the name of the process by which organics are converted by heat to volatile hydrocarbon type substances? (1 point)
a) Combustion

b) Reduction

c) Pyrolysis

7. What is the process by which sodium sulfate is converted to sodium sulfide in the char?

a) Combustion

b) Pyrolysis

c) Reduction

8. When the smelt is added to water, what is formed? (1 point)
a) White Liquor

b) Green Liquor

9. What is slaking? (1 point)
a) The addition of smelt to water

b) The conversion of sodium carbonate to calcium carbonate

c) The conversion of calcium carbonate to CaO

d) The conversion of CaO to Ca(OH)2
10. What happens during causticizing? (1 point)
a) Sodium sulfate is converted to sodium sulfide

b) Calcium carbonate is converted to CaO

c) Sodium carbonate is converted to NaOH

11. Which of the following is in highest concentration in green liquor? (1 point)
a) Sodium hydroxide

b) Sodium sulfate

c) Sodium carbonate

d) Sodium sulfide

12. What is the function of the lime kiln? (1 point)
a) Conversion of sodium carbonate to sodium hydroxide

b) Conversion of CaO to Ca(OH)2
c) Conversion of CaCO3 to CaO

d) Conversion of sodium sulfate to sodium sulfide
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